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BECC-110 : INTRODUCTORY ECONOMETRICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from all the Sections as 

per instructions. 

Section—A 

Note : Answer any two questions from this Section.  

  2×20=40 

1. Consider the regression model : 

1 2Y X Ui i i       

(a) Explain why an error term is included in 

the model. 

(b) Explain how the model can be estimated by 

OLS method. 
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2. (a) Specify a multiple regression model with 

dummy variable. Interpret the model. 

(b) Explain how OLS estimators can be 

obtained for the above multiple regression 

model with the dummy variable. 

3. Explain the concept of heteroscedasticity. 

Describe the methods of its detection in a 

dataset. 

4. What is meant by multicollinearity ? What are 

its consequences ? What are its remedial 

measures ?  

Section—B 

Note : Answer any four questions from this 

Section.  4×12=48  

5. Explain the concept of coefficient of 

determination (R2). Why is its value always less 

than 1 ? 
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6. Consider the regression model 

1 2Y X Ui i i     . What are the implications 

on the estimates of its parameters if we change 

the scale of measurement of (i) the explanatory 

variables, and (ii) the dependent variables ? 

7. Describe the maximum likelihood method of 

estimation in a regression model. 

8. Give a brief account of the remedial measures 

for the problem of heteroscedasticity. 

9. What is the objective of D-W test ? Write down 

the steps for conducting a D-W test. 

10. What is the importance of correct specification 

of a regression model ? What is the implications 

of including an irrelevant variable in a 

regression model ? 

11. Give a brief account of the hypothesis testing. 

In this context, distinguish between the test of 
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significance approach and the confidence 

interval approach. 

Section—C 

12. Write short notes on any two of the  

following :  2×6=12  

(a) Power of a test 

(b) Type I and Type II errors 

(c) Chow test 

(d) Akaike Information criterion 
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